3 (Sem-5) BOD M 1
2019

BODO
( Major )

Paper : 5.1

Full Marks : 60
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer in Bodo
1. TeER AigeRE 9k JHe e giest e o 1x7=7
(%) m&gﬁanqwtmﬁf%m
(@) wfEgaT "I SIS o o
(M) ¥ TREE T AR AR T
(9) |J wHN SESEn 7 AR

() A FEml qE 9EE gg SHEEE A
fer| :

@) erf safrgsa RE e ar?
(8) wigaR TRETEER TR seA for

20A/194 ( Turn Over )



(2)

2. TEEH dieRE g T 2x4=8
(%) T TRgE MER BEE gEife @ gE
fa
(@) g wmgan w7

(M) TWERE qEEE wEE /R
(9) |M AR G SSERE e |

3. TRAM diqeR SEfa-sE Waam ged fw : 5x3=15
(%) =Ifegar wFt S 9 S

(@) §d R snfgen @

(1) RrE-weeE dER | gy gaeE WA gy
HERARE & for)

(&) SUERA ST=En SR HY
(¥) TWERM SEPiEREl GIRE AEf Hdd dd
Seat ferl
4. gg 9o A TGl ASwE Aefe omem i
=l derl sEa fe) 10

T

B ARG B g STErn W1 S@eH
el 5+5=10

20A/194 ( Continued )



(3)

5. gg Tyl sereRE! TR swe forl 10
LC]]

Ad g gifgar 7 TR "R deE | S
e 10

6. SUHRE SR 90 917 o SREE! 9] ST s
fer 149=10

oaT
g BIYRAR TR @ BRERT | ddes i 10

* & &

20A—2000/194 3 (Sem-5) BOD M 1



